-
(s =
=
> b |
=z g 3
O = 7
meiu
= SL3
< 223
< P
Sp R
(=]
=
> <
« @ O
iy o=
DAn N o
— s
; = &
3 > W <
d -~
2 O I =z
" 5 > ﬁOV __.._l._
o T fe
ik (7)) W o
9 0 o g
a2 o
E £ b= -
5 129 . & =
- -
E5 S5% s 3833 wal . # O
.m .m ﬁum w Sandm == E L |
d d . —
o o =g £ 3% .8 B M O
(= e < M maMn o
= —_ a mm—
z =2 oF it <
0 o 0 Sle = 2 85 o =
w - S < Sls & ® o %L N =
- n n » o RO i
: < agE s . o N v
® © owEY ) -
= B o
Tl <l <
Mm w s
= 9
B 5
(Vp)
(7p)
wl
=
a
=
<
w
-
e |
wn
PR =TT =T
Y/ )8
W&ﬂ
/f@yA a5
i
U
= Eat
. YN
il —ame—
N
m. L = ,,,,,, ey
m g
S 2
O\ s
w_,,,.\m.r, 3 M/V
ﬁ i
v { (A ~ 2 L S
| \ ¢
N v\\\wﬁ‘
L B9 K
& 7
o~ L>_
N\\.AL\W%
o v e —
ﬁw%ﬂx g
NI £
ﬂﬁ. 87 S <
O
X _@_ S
! — O
= lll n
- <
L
N - Y W
o = wn
4
g
Mw o og
3 g
o - o
(o]
(@]
(o]
©
15542
$23myp
LBSS .m £
R e
ms @ . =
6o 2o 5045
L 75y o .. ® m = [ w
B 2 = W Ly
A el e
) SRR~ 2 ¢ 2 .W g v S5
: PR
TELEEE
BN ES =& -
i~ = L
3 8 58385
\ m3|D.S = ‘o
: T )
! - ExSsxfs

3,560,000
Feet
3,520,000
Feet
3,480,000
Feet

PLATE K-13

interval 100 feet

Contour




